‘ R16, R17 SHIFT VICM TO MID-SUPPLY‘

‘ CONSIDER VICM=1.5V TO REDUCE DC CURRENT AND CURRENT SINK TO V GEN‘
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‘ R11, R14, R15 CAN BE REPLACED BY ONE R = R15 Il R14+R11‘

0
0
S
+ s 8
3]
¢} >T
AM1
o +
© © [a]
© >
ﬁ * (A g
@ [(=]
) AM4
RS 125 U2 LMH5401
g —A\W FBP 8 g
/\(g R13 50 R10 22.6 > ouTP
+
@ NN AN INN
+ VN Ldcm LMH5401
R15 50 R1122.6
NV NV INP
R9 125
w 2 ouTN
—AMN——JFen Y 5
n
&
©
e >
) 8
~
-
a4
AM2

O
S
PTOT ~=0.7W @ VCC=4V
PTOT ~=1.OW @ VCC=5V 3
o)
+ + ST
= V20 =Vvcc4
+
AM6 = V121
4 (Aj‘ —
8 " 3
> 8
o
+ - ___
C 3
o -_
AM >
R35
U1 LMHB401
S AN
> R1 20 L17.5n L3 18n <
NP — 18 ouTP AN N NN o .
@ X
Attenuator Steps =3 3
&L @ - . § X vour2
Vocm S - S — x -
OdBto 828 R2 20 L2 7.5n L4 18n S
INM =t OUTM ANN NN NYN_____¢ g R4 5
w AN
>

B5 ———|8B5
B4———B4
B3——B3
B2 —IB2

Bl F——B1
BO ———-1B0

[C3, R7 - ADC INPUT RC]




